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Test 1 Reading Comprehension ( I )

Directions : There are 20 passages in this part. Each passage is followed
by some questions. For each question there are four suggested answers
marked A, B, C and D. You should choose the ONE best answer and
mark the corresponding letter on the Answer Sheet with a single line

through the centre.

Decades before the American Revolution of 1776, Jesse Fish, a
native New Yorker, retreated to an island off St: Augustine, Flori-
da, to escape an unpleasant family situation. In time he became
Florida’s first orange rich merchant and his oranges were in great de-
mand in London throughout the 1770%. The English found them juicy
and sweet and preferred them to other varieties, even though they had
thin skins and were hard to peel.

There would probably have been other successful commercial grow-
ers before Fish if Florida had not been under Spanish rule for some two
hundred years. Columbus first brought seeds for orange trees to the
New World and planted them in the Antilles. But it was most likely that
Ponce ae Leo’n introduced oranges to the North American continent
when he discovered Florida in 1513. For a time, each Spanish sailor on
a ship bound for America was required by law to carry one hundred
seeds with them. Later because seeds tended to dry out, all Spanish
ships were required to carry young orange trees. The Spaniards planted

orange trees only for medicinal purposes, however. They saw no need
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to start commercial groves because oranges were so abundant in Spain.

1. The main topic of the passage is
A. the role of Florida in the American Revolution
B. the discovery of Florida by Ponce de Leo’n in 1513
C. the history of the cultivation of oranges in Florida
D. the popularity of Florida oranges in London in the 1770’
2. Jesse Fish came from =
A. London B. the Antilles
C. St. Augustine D. New York
3. Jesse Fish went to Florida to
A. grow oranges commercially
B. buy an island off St. Augustine
C. get away from his family
D. work for the British government

4. Londoners liked the oranges grown by Jesse Fish because they

A. had a lot of juice B. were not sweet

C. were not hard to peel D. had thin skins

o,

. According to the passage, Spanish vessels began to bring orange tree ™
seedlings to North America when A
A. the United States agricultural laws were revised
B. ambitious sailors began to smuggle seeds
C. doctors reported a lack of medical supplies

D. authorities realized that seeds did not travel well

In recent years television has become the most popular form of en-

oo



tertainment. It does not look as if it will be less popular in the world of

the future. In fact it looks as if television will become more popular than

ever. New systems of television have been made possible by the discov-
ery of the laser. A laser is a beam of light that has many strange quali-
ties. By using a laser it is possible to throw very large and very clear

television pictures on to a screen. These may be as large as three metres

by three metres. Many people could watch this kind of television togeth-
er. -

Laser beams have also made very thin television sets possible.
These sets can be hung on the wall of a room like a large picture. Anoth-
er development in the future will be three dimensional television§ the
picture will look more “rgal”.

In the near future you will be able to buy your favourite television
programmes already recorded on tapes. They will be like the tapes that
are used in recorders today. You will also be able to record television
programmes and play them back later. The laser beam will make this

possible.

6. In the future world
A. with the development of laser, television will be useless
B. television will be greatly improvea by using laser
C. neither television nor laser is useful
D. television seems to be less important in human life
7. The picture sent by a laser on a screen may be
A. three times as large as those now
B. as large as nine square meters
C. as large as six meters

D. six times as large as those now



8. Laser beams can
A. hang TV sets on the wall
B. make the wall of a room very thin
C. make the wall of a room like a picture
D. make TV sets thinner than those used at present

9. The picture on a three- dimensional television screen will be

A. clearer B. dimmer
C. more living D. more harmful

10. In the near future the laser beam will help you
A. torecord TV programmes and play them back again
B. to select TV set
C. to watch TV
D. to buy tapes

Every animal is a living radiator—heat formed in its cells is given
off through its skin. Warm-blooded animals maintain a steady tempera-
ture by constantly replacing lost surface heat; smaller animals, which
have more skin for every ounce of body weight, must produce heat
faster than bigger ones. Because smaller animals burn fuel faster, scien-
tists say they live faster.

The speed at which an animal lives is determined by measuring the
rate at which it uses oxygen. A chicken, for example, uses one-half cu-
bic centimeter of oxygen every hour for each gram it weighs. The tiny
shrew uses four cubic centimeters of oxygen every hour for each gram it
weighs. Because it uses oxygen eight times as fast, it is said that the

mouselike shrew is living eight times as fast as the chicken. The smallest



of the warm- blooded creatures, the humming- bird, lives a hundred
times as fast as an elephant. .

There is a limit to how small a warm-blooded animal can be. A
mammal or bird that weighed only two and a half grams would starve to
death. It would burn up its blood too rapidly and would not be able to

eat fast enough to supply more fuel.
11. The passage says that every animal is a living radiator because it

A. produces heat in its body cells

-

B. bu;ns fuel to produce heat

C. gives off heat through its skin

D. requires oxygen to produce heat
12. Small animals are said to live faster than big ones because they
. have more)skin for every ounce of body weight
replace lost heat faster

burn fuel faster

Uow >

. maintain a higher body temperature

13. The amount of oxygen an animal uses ‘depends on
A. its body weight
B. the food it eats
C. its general size and shape

D. the length of time it lives
14. An animal weighing less than 2 % grams would starve as it would

not be able to

A. get enough oxygen



B. maintain its body temperature

C. burn its food fast enough

D. eat fast enough to supply fuel

15. Implied but not stated :

A. There is no limit as to how large a warm-blooded animal can
be.

B. The humming bird lives faster than any other warm- blooded
creature.

C. Small animals have less skin for their body weight than largé
ones.

D. The humming bird is the smallest of the warin-blooded

animals.

A computer is a machine designed to perform work mathematically
and Lo store and select information that has been fed into it. It is run by
either mechanical or electronic means. These machines can do a great
deal of complicated work in a very short time. A large computer, for
example, can add or subtract nine thousand times a second, multiply a
thousand times a second, or divide five hundred times a second. Its per
centage of error is 2hout one in a billion digits. It has been estimated
that human beings making calculations average about one mistake per
two hundred digits.

The heart of an electronic computer lies in its vacuum tubes, or
transistors. Its electronic circuits work a thousand times faster than the
nerve cells in the human brain. A problem that might take a human
being two years to solve can be solved by a computer in one minute,

but in order to work properly, a computer musi be given instruction—it

‘6‘



must be programed.

Computers can be designed for many specialized purposes— they
can be used to prepare payrolls, guide airplane flights, direct traffic,
even to play chess. Computers play an essential role in modern automa-

tion in many plants and factories throughout the world.

16. A computer is a machine designed to $
A. perform work mathematically
B. perform complicated calculations
C. store and select information
D. all of the above

17. The speed with which an electronic computer works depends on its

A. electronic circuits

- B. vacuum tubes, or transistors
C. programer
D. instructions

13. The passage says that computers play an essential role in

AL automaticn processes
B. mathematical computations
C. traffic control
D. the development of mathematical theory
19. The use of computers for specialized purposes depends on the
A. design of the ‘computer
B. power used to operate the computer

C. difficulty of the mathematical calculations involved



D. the ability of the programmer
20. The passage implies that human beings differ from computers in
that human beings
A. make fewer errors
B. do not have to be programed
C. work more quickly
D

. understand their instructions
5

Gravity holds us so close to the Earth’s surface that nobody can
jump more than a few feet into the air without the force of gravity
pulling him down. It takes a powerful engine to keep a plane up in the
air. If you throw a ball upwards as hard as you can, you will notice
that it travels in a curved path before it comes back to the ground. If
the Earth had no gravity, the ball, instead of travelling in a curve,
would move away in a straight line; in fact, it would never come back
to the ground. If the Earth were to lose its pull of gravity, we should
all fly off it as it spins round in space. The Earth has a strong pull, but
modern rockets going out into space are able to escape from the gravity,
because they travel so quickly. With the ball thrown into the air, the
height reached by the ball depends upon how hard it is thrown. The
greater the starting-speed, the higher the ball will go. If it could be
thrown so that it travelled fast enough, the ball would escape into space
and never come back. Nobody can throw a ball as fast as this, but pow-
erful rocket engines can send spaceships away from the Earth at such a
speed that the Earth’s gravity is not able to pull them back. This is how

we can now send rockets to the Moon.

08-



21.

22.

23.

24.

25.

Gravity holds us close to the Earth’s surface, and as a result,

. we can lift ourselves no more than a few feet above the Earth
nobody can jump a few feet into the air

no one will be pulled down

S owy

any one of us can jump as high as expected

If there were no gravity, a ball thrown upwards would
A. spin round in space B. fly off into space

C. fall in a curved path D. move towards the Earth

The ball thrown into the air would never come back to the ground

A. without such a powerful horizontal push

B. if it were thrown upwards as hard as you can

C. should it travel in a curved path

D. were it not for gravity

The height the ball will reach depends on

A. the escape velocity B. the limiting velocity
C. its starting velocity D. its travelling speed

What is it that makes it possible to put a spaceship into orbit?
A. The Earth’s gravity. B. A strong pull.
C. A powerful engine. D. The powerful rocket engine.

6

Throughout history, people have been interested in knowing how

language first began, but no one knows exactly where or how this hap-

pened. However, we do know a lot about languages, the languages of

today and also the languages of earlier times. There are probably about

three thousand languages in the world today. Chinese is the language
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with the most speakers. English, Russian and Spanish are also spoken
by many millions of people. On the other hand, some languages in the
world have less than one hundred speakers.

There are several important families of languages in the world.
For example, most of the languages of Europe are in one large family
called Indo-European. The original language of this family was spoken
about 4,500 years ago. Many of the present-day languages of Europe
and India are modern forms of the language of 4,500 years ago.

Languages are always changing. The English of today is very dif-
ferent from the English of 500 years ago. In time, some even die out
completely. About 1,000 years age English was a little-known relativea

of German spoken on one of the borders of Furcpe.

26. The subject of this passage is about
A. language D
B. Indo-European
C. speakers of different languages
D. the English language
27. The main idea in the first paragraph is that
A. most people in the world speak Chinese
B. there are thousands of languages in today’s world
C. man has much knowledge about languages
D. some people know several languages
28. In today’s world, there are about languages. ..
A. 3,000 B. 4,500
C. 3,500 D. 5,000
29. Most European and Indian languages

A. arc no longer spoken
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